a(6 @) (rad)

S

a(d cot(B))
S

=
<
N

...............................................

! * i i 1o

..............................................

1073

=
<
w
T
+
-+

1074

—
URLERLLL |
&

d
&

o1t il 10—kl il

Ratio

[y
TTTT] T T
3
¥
iy
TTTT T T
3
¥

0.95 : : : 0.95
-1 2 3
10 1 TPlpOT (PCA t%obeamliné[f)

1

=
o
iN

—=— DQM_TT_original_time

—— DQM_TT_modified_time

g E F ! ]
= = * :
o o 107 e N
1 © s : :
e I *tﬂ‘?,}* --------------------
AEE SR

1073

T
i
..........—.:'ﬂ.—....... R

LRI
&

B S | T RV E DV

iy
TTTT] T
3
¥

: o :
1 -1 2 3
10 ! 10 ! TPl[g)T (PCA f%)obeamlinép

10 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


